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001. fwËhíke ðMkðkx{kt .......... Lku çk[kððk {kxu MkkMký økehLku 1965 {kt ðLÞSðLk y¼ÞkhÛÞ íkhefu ònuh fhðk{kt

ykÔÞwt níkwt.

(A) yurþÞkE ®Mkn (B) çkkhn®Mkøkk

(C) LkuÃkk¤e swB{kMk (D) fk¤e {nkþeh

002. Mkk{kLÞ heíku økwshkíkLkk økeh «Ëuþ{kt fÞku ÄkŠ{f økúkBÞSðLk MktçktÄe Mk{wËkÞ òuðk {¤u Au ?

(A) hksøkkUz (B) {k÷Äkhe

(C) zwtøkhe ¼e÷ (D) Zku÷e ¼e÷

003. sw÷kE 1976 {kt Mkkihk»xÙLkwt hk»xÙeÞ WãkLk íkhefu ònuh fhkÞu÷ ¼k÷ «ËuþLkku yuf LkkLkku ¼køk {wÏÞíðu .......... {kxuLkwt
y¼ÞkhÛÞ Au.

(A) fkr¤Þkh (B) ¼qhe Ônu÷

(C) ½wz¾h (D) ½kuhkz

004. Ãkhðkr÷Þk yLku y÷tøk LkËe ðå[uLkk økZký .......... {kt ¾U[kÞ Au.

(A) fåALkk y¾kík (B) {LLkkhLkk y¾kík

(C) ¾t¼kíkLkku y¾kík (D) yuzLkLke ¾kze

005. økwshkíkLke ytrçkfk LkËe ytíku .......... ÃkkMku ËrhÞk{kt {¤u Au.

(A) ¼Y[ (B) LkkÚkus

(C) økkiStøk (D) LkðMkkhe

006. ËrhÞkE hk»xÙeÞ WãkLk yLku y¼ÞkhÛÞ ðMkðkxkuLke rðrðÄíkk Þwõík, íkuLkk «ðk¤ þi÷-©uýe yLku {uLkøkúkuð ðLkMÃkrík
.......... {kt ÂMÚkík Au.

(A) ò{Lkøkh (B) ¼kðLkøkh

(C) Mkwhík (D) ð÷Mkkz

007. økwshkík MkhfkhLkk Lkðk rLkýoÞ «{kýu «ðíko{kLk ®MknkuLkk rðMíkkhLkwt ºký ûkuºkku{kt rð¼ksLk Úkþu. su{ fu ðLÞSðLk ûkuºk
sqLkkøkZ, sqLkkøkZ «kËurþf ûkuºk yLku hksfkux ûkuºkLku .......... {kt VuhðeLku {qfðk{kt ykðþu.

(A) sqLkkøkZ «kËurþf ûkuºk (B) ðLÞSðLk ûkuºk sqLkkøkZ

(C) hksfkux ûkuºk (D) WÃkhkuõík{ktÚke fkuE Lknª

008. ¼khíkeÞ çktÄkhýLkk yLkwåAuË 80(3) {wsçk hkßÞMk¼kLkk 12 MkÇÞkuLke rLk{ýqf hk»xÙÃkrík fhu Au. yk MkÇÞkuLku Lkk{ktrfík
MkÇÞku fnuðkÞ Au. yk rLk{ýqf rðrðÄ ûkuºkkuLkk rLk»ýkíkku su{fu .......... {ktÚke fhkÞ Au.

(A) f÷k, MkkrníÞ, rð¿kkLk yLku Mk{ksMkuðfku (B) f÷k, h{ík-øk{ík, MkkrníÞ yLku Mk{ksMkuðfku

(C) MkkrníÞ, rþûký, Lk]íÞ yLku Mk{ksMkuðfku (D) rþûký, f÷k, h{ík-øk{ík yLku Mk{ksMkuðfku

009. ¼khíkLkk çktÄkhýLkk ykht¼Úke, Ëhuf ÔÞÂõík ¼khíkLkk Lkkøkrhf çkLkþu, su ¼khíkLkk «Ëuþ{kt íku{Lkk rLkðkMkMÚkkLk Ähkðu Au

yLku .......... .

(A) suLkku sL{ ¼khík «Ëuþ{kt ÚkÞku níkku.

(B) õÞktíkku íku{Lkk {kíkkrÃkíkk çku{ktÚke yuf ¼khíkLkk «Ëuþ{kt sLBÞk níkk.

(C) çktÄkhýLkk ykht¼Úke íkuLkk r¢ÞkLkðÞLk çkkË suyku Mkk{kLÞ heíku ¼khík «Ëuþ{kt Ãkkt[ ð»koÚke ykuAk Mk{ÞÚke Lkrn Ãký

ykuAk{kt ykuAk Ãkkt[ ð»koÚke ðMkðkx fhíkk nkuÞ.

(D) WÃkhkuõík ík{k{
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010. nk÷Lkk ÃkkrfMíkkLk{kt Mkk{u÷ Au yuðk «Ëuþ{ktÚke ¼khíkeÞ «Ëuþ{kt MÚk¤ktíkh fÞwo nkuÞ, yu{Lku {kxu ¼khíkeÞ çktÄkhýLkk
fÞk yLkwåAuË{kt LkkøkhefíkkLkk yrÄfkhLkwt rðMík]ríkfhý fhu÷ Au ?

(A) yLkwåAuË 5 (B) yLkwåAuË 6

(C) yLkwåAuË 7 (D) yLkwåAuË 8

011. ¼khíkeÞ çktÄkhýLkk 24{k MkwÄkhkLke {kLÞíkk ò¤ððk {kxu Lke[uLkk Ãkife fÞk {wfÆ{kLkk fkhýu yLkwåAuË 13(4) Lku

Mkk{u÷ fhðk{kt ykÔÞku Au ? su Ëþkoðu Au fu çktÄkhýLke fux÷ef {q¤¼qík rðþu»kíkk{kt MkwÄkhku þõÞ LkÚke.

(A) økku÷fLkkÚk rðYØ Ãktòçk hkßÞ (B) {eLkhðk {eÕMk rðYØ ¼khíkeÞ Mkt½

(C) fuþðkLktË ¼khíke rðYØ fuh¤ hkßÞ (D) WÃkhkuõík{ktÚke fkuE Lknª

012. ¼khíkeÞ çktÄkhýLkk yLkwåAuË 15(3) yLðÞu Lke[uLkk Ãkife fÞwt Mkk[wt Au ?

(A) yk yLkwåAuË{kt yuðwt ftE LkÚke su Mºkeyku yLku çkk¤fku {kxu òuøkðkE fhðk{kt hkßÞLku yxfkðe þfu.

(B) yk yLkwåAuË{kt yuðwt ftE LkÚke su ÄkŠ{f ÷½w{íke {kxu òuøkðkE fhðk{kt hkßÞLku yxfkðe þfu.

(C) yk yLkwåAuË{kt yuðwt ftE LkÚke su ¼k»kkfeÞ ÷½w{íke {kxu òuøkðkE fhðk{kt hkßÞLku yxfkðe þfu.

(D) yk yLkwåAuË{kt yuðwt ftE LkÚke su ËqhMÚk ÂMÚkík ÷kufku {kxu òuøkðkE fhðk{kt hkßÞLku yxfkðe þfu.

013. ¼khíkeÞ çktÄkhýLkk yLkwåAuË 18 yLkwMkkh Lke[uLkk Ãkife fÞw Mkk[w Au ?

(A) rþûkk yLku MkirLkf ûkuºkLku AkuzeLku hkßÞ îkhk çkÄe WÃkkÄeykuLkku ytík fhðk{kt ykÔÞku Au.

(B) fkuEÃký ÔÞÂõík su ¼khíkeÞ Lkkøkhef Lk nkuÞ íku rðËuþe hkßÞLke WÃkkÄeLkku Mðefkh fhe þfu Lkne.

(C) fkuEÃký ¼khíkeÞ Lkkøkhef, ßÞkhu fkuEÃký ÷k¼Lkwt ÃkË Ähkðu Au, íÞkhu hk»xÙÃkríkLke Mkt{rík rðLkk fkuEÃký rðËuþe
hkßÞLke WÃkkÄe ÂMðfkhe þfu Lknª.

(D) WÃkhkuõík ík{k{

014. ¼khíkeÞ çktÄkhýLkku fÞku yLkwåAuË ònuh fhu Au fu, “yMÃk]~Þíkk fkÞËkLke òuøkðkE {wsçk yÃkhkÄ økýkþu.”

(A) yLkwåAuË 16 (B) yLkwåAuË 17

(C) yLkwåAuË 18 (D) yLkwåAuË 19

015. yLkwåAuË 20(2) .......... Mkk{u «ríkçktÄ Vh{kðu Au.

(A) «{kýÃkºkLkk VhrsÞkíkÃkýk (B) çkuðzk ¾íkhk

(C) fÞkuo¥kh rðrÄ (D) WÃkhkuõík{ktÚke fkuE Lknª

016. ¼khíkeÞ MktrðÄkLkLkk .......... {wsçk «Ëq»ký {wõík nðkLkku yrÄfkh Au.

(A) yLkwåAuË 19 (B) yLkwåAuË 20

(C) yLkwåAuË 21 (D) yLkwåAuË 22

017. yLkwåAuË 24 {wsçk fkuEÃký çkk¤f su .......... ð»ko Lke[uLkwt nkuÞ, íkuLku fkuEÃký Vuõxhe, ¾ký yÚkðk òu¾{e hkusøkkh{kt
fk{u hk¾e þfkÞ Lknª.

(A) 12 (B) 14

(C) 16 (D) 18
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018. ¼khíkeÞ MktrðÄkLk {wsçk yLkwåAuË 32 Lkk fÞk yrÄfkh/yrÄfkhku y{÷Ãkkºk Au ?

(A) çktÄkhý îkhk ykÃkðk{kt ykðu÷k {q¤¼qík yrÄfkhku

(B) çktÄkhýeÞ yrÄfkhku su {q¤¼qík yrÄfkhLkku Ëhßòu Ähkðíkk LkÚke.

(C) ðiÄkrLkf yrÄfkhku

(D) økkiý fkÞËk{ktÚke «ðkrník Úkíkk yrÄfkhku

019. Lke[uLkk Ãkife fÞwt/fÞk LÞkÞk÷ÞLke Mk¥kk MktË¼uo Mkk[wt LkÚke ?

(A) LÞkÞk÷Þ yxfkÞíkLkku Mk{Þøkk¤ku ½xkze þfíke LkÚke.

(B) LÞkÞk÷Þ çktÄkhýLke MkwÄkhýkLkwt y{÷efhýfhý fhðk MkhfkhLku Vhs Ãkkzþu Lknª.

(C) LÞkÞk÷Þ fkÞËk yÚkðk økkiý fkÞËk ½zðk {kxu rËþk rLkËuorþík fhe þfu.

(D) WÃkhkuõík ík{k{

020. Lke[uLkk{ktÚke fÞwt ¼khíkeÞ çktÄkhý nuX¤ LÞkrÞf Mk{eûkk{kt ÞkuøÞ LkÚke ?

(A) ykŠÚkf Lkerík MkkÚku MktçktrÄík LkÚke.

(B) {kºk ¼kð Xhkðýe LÞkÞk÷ÞLkk yrÄfkhûkuºk{kt Au.

(C) «&™ {ÞkoËk{kt nfefíkLkk íkkhýku ÔÞksçke Ãkwhkðk WÃkh ykÄkrhík Au fu fu{ yLku þwt ykðk íkkhýku s{eLkLkk fkÞËkyku
MkkÚku MkwMktøkík Au fu fu{.

(D) yLkwåAuË 32 yLku 226 {wsçk MkwÄkhkLke Mke{k {ÞkoËk çknkh çktÄkhýLkwt {q¤¼qík ÷ûký.

021. Lke[uLkk Ãkife fÞw hkßÞ Lkerík rLkËuoþLkk rMkØktíkku (DPSP) MktçktrÄík ÞkuøÞ LkÚke ?

(A) yk ¼køk fkuEÃký yËk÷ík îkhk ÷køkw Ãkkze þfkþu Lknª.

(B) DPSPLkku nuíkw hkßÞLkk fÕÞkýLkku rð[kh.

(C) DPSPLkku y{÷ fhðk {kxu MktMkË {q¤¼qík yrÄfkhku{kt MkwÄkhku fhe þfíkwt LkÚke.

(D) rð¼køk-III ({q¤¼qík yrÄfkh){kt Au, yu s heíku “hkßÞ” þçËLkku yÚko íku s «{kýu ÚkkÞ Au, ßÞkt MkwÄe fkuE MktË¼uo
yLÞÚkk sYhe Lk sýkÞ íÞkt MkwÄe.

022. ¼khíkeÞ çktÄkhýLkk fÞk yLkwåAuË{kt ËþkoðkÞwt Au fu, “¼khíkLkk Mk{økú «Ëuþ{kt ík{k{ {kxu Mk{kLk Lkkøkrhf Mktrníkk
Mkwhrûkík fhðkLkku «ÞkMk fhþu.”

(A) yLkwåAuË 43 (B) yLkwåAuË 43A

(C) yLkwåAuË 44 (D) yLkwåAuË 45

023. Lke[uLke Mkqr[-I yLku Mkqr[-II Lku ÞkuøÞ heíku òuzku.

Mkqr[-I (yLkwåAuË) Mkqr[-II (òuøkðkE)

(a)  yLkwåAuË 48A (i)   M{khfku yLku MÚk¤kuLke Mkwhûkk

(b)  yLkwåAuË 49 (ii)  ÃkÞkoðhý hûký yLku íku{kt MkwÄkhku

(c)  yLkwåAuË 49 (iii) yktíkhhk»xÙeÞ þktrík yLku Mk÷k{íkeLkwt «ðíkoLk

(d)  yLkwåAuË 51 (iv) LÞkÞíktºkÚke fkÞoðknfLkwt Ãk]Úk¬hý

Lke[uLkk Mktfuíkku{ktÚke ÞkuøÞ sðkçk ÃkMktË fhku.

(A)  a - ii,  b - i,  c - iv,  d - iii (B)  a - i,  b - iii,  c - iv,  d - ii

(C)  a - iii,  b - iv,  c - i,  d - ii (D)  a - iv,  b - ii,  c - iii,  d - i
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024. yLkwåAuË 51A {wsçk {q¤¼qík VhòuLkk MktË¼uo Lke[uLkwt Ãkife fÞw Mkk[wt LkÚke ?

(A) Vhòu Lkkøkrhfku {kxu VhSÞkík Au.

(B) Vhòu Ãkh{kËuþ / rhx îkhk ÷køkw fhe þfkÞ.

(C) {kºk çktÄkhý ÃkØríkyku îkhk «ðíkoLk.

(D) yLkwåAuË 51A yu Wíf]üíkk íkhV ykøk¤ ðÄðk {kxuLkk árüfkuý MkkÚkuLkwt nfkhkí{f MðYÃk Au.

025. hk»xÙÃkríkLke [qtxýe MktË¼uo Lke[uLkk Ãkife fÞwt/fÞk Mkk[wt/Mkk[k Au ?

I.    rLkðko[f {tz¤Lkk MkÇÞku îkhk [qtxkÞ.

II. rLkðko[f {tz¤{kt MktMkËLkk çktLku øk]nLkk [qtxkÞu÷k MkÇÞkuLkku Mk{kðuþ ÚkkÞ Au.

III. rLkðko[f {tz¤{kt rðÄkLkMk¼kLkk [qtxkÞu÷k MkÇÞkuLkku Mk{kðuþ ÚkkÞ Au.

IV. rLkðko[f {tz¤{kt rËÕne, hk»xÙeÞ hksÄkLke yLku ÃkkUrz[uheLkk fuLÿþkrMkík «ËuþLkk rðÄkLkMk¼kLkk [qtxkÞu÷k MkÇÞkuLkku
Mk{kðuþ ÚkkÞ Au.

(A) {kºk I Mkk[wt (B) {kºk I yLku II Mkk[k

(C) I, II yLku III Mkk[k (D) çkÄk s Mkk[k I, II, III yLku IV

026. ¼khíkeÞ çktÄkhýLkk fÞk yLkwåAuË{kt ËþkoðkÞw Au fu, “¼khík hkßÞkuLkku Mkt½ Au.”

(A) yLkwåAuË 1(1) (B) yLkwåAuË 2(A)

(C) yLkwåAuË 3(a) (D) yLkwåAuË 4(1)

027. ¼khíkeÞ çktÄkhýLkku fÞku MkwÄkhku yk{w¾{kt “Mk{ksðkËe” yLku “rçkLkMkkt«ËkrÞf” þçËkuLkku W{uhku fhu Au ?

(A) 41st MkwÄkhku 1975 (B) 42nd MkwÄkhku 1976

(C) 43rd MkwÄkhku 1977 (D) 44th MkwÄkhku 1978

028. Mkk{kLÞ fkÞËk Ãkh {zkøkktXLku Wfu÷ðk {kxu MktMkËLkk çku øk]nkuLke MktÞwõík çkuXfLkwt Mkt[k÷Lk fkuý fhu Au ?

(A) ¼khíkLkk hk»xÙÃkrík (B) ¼khíkLkk WÃkhk»xÙÃkrík

(C) ÷kufMk¼kLkk MÃkefh (D) ¼khíkLkk «ÄkLk{tºke

029. Mkqr[-I yLku Mkqr[-II Lku ÞkuøÞ heíku òuzku.

Mkqr[-I (¼khíkeÞ çktÄkhýLke rðþu»kíkk) Mkqr[-II (rðþu»kíkkLkwt {q¤)

(a)  {q¤¼qík yrÄfkh (i)   Þw.fu.

(b)  MktMkËeÞ ÔÞðMÚkk (ii)  Þw.yuMk.yu.

(c)  fxkufxeLke òuøkðkEyku (iii) ykÞ÷uoLz

(d)  hkßÞ LkeríkLkk rLkËuoþf rMkØktík (iv) s{oLke

Lke[uLkk Mktfuíkku{ktÚke ÞkuøÞ sðkçk ÃkMktË fhku.

(A)  a - iv,  b - iii,  c - ii,  d - i (B)  a - iii,  b - iv,  c - i,  d - ii

(C)  a - ii,  b - i,  c - iv,  d - iii (D)  a - i,  b - ii,  c - iii,  d - iv

030. ¼khíkeÞ çktÄkhýLkk fÞk yLkwåAuË {wsçk hex (LÞkÞk÷Þ ykËuþ) {tsqh fhðk{kt ykðu Au ?

(A) yLkwåAuË 14 (B) yLkwåAuË 19

(C) yLkwåAuË 28 (D) yLkwåAuË 32
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031. Lke[uLkk Ãkife fÞwt / fÞkLkku Mk{kðuþ Mkðkuoå[ LÞkÞk÷ÞLkk {q¤ yrÄfkhûkuºk{kt ÚkkÞ Au ?

(A) ¼khík Mkhfkh yLku yuf yÚkðk ðÄw hkßÞku ðå[uLkku rððkË

(B) hkßÞLke rðÄkLkMk¼k yÚkðk MktMkËLkk fkuE øk]nLke [qtxýe ytøku rððkË

(C) ¼khík Mkhfkh yLku fuLÿþkrMkík «Ëuþ ðå[u rððkË

(D) çku fuLÿþkrMkík «Ëuþku ðå[u rððkË

032. suLkku nuíkw ËuþLkk Ãkt[kÞík hks MktMÚkkykuLku «kuíMkknLk ykÃkðkLkku Au yuðk ¼khíkeÞ çktÄkhýLkk yrÄrLkÞ{ 1992 (73rd

MkwÄkhk) {wsçk ík{k{ Ãkt[kÞík [qtxýeLkwt Mkt[k÷Lk fkuý fhu Au ?

(A) ¼khíkLkwt [qtxýe Ãkt[ (B) hkßÞ [qtxýe ykÞkuøk

(C) rsÕ÷k ðneðxe (D) hkßÞ Mkhfkh

033. yk{w¾ {wsçk ¼khíkeÞ çktÄkhý íkuLke yrÄf]íkíkk .......... {ktÚke {u¤ðu Au.

(A) ¼khíkeÞ MktMf]rík (B) ¼khík Mkhfkh

(C) ¼khíkLke «ò (D) ¼khíkeÞ Mk{ks

034. ¼khíkeÞ çktÄkhýLkk yk{w¾Lku íkuLkk .......... íkhefu ðýoðu÷ Au.

(A) çktÄkhýLkku ykí{k (B) ykÄkh-¾zf

(C) fhkuzhßsw (D) {k¤¾k

035. MktÞwõík hk»xÙ Mkwhûkk Ãkrh»kËu (UNSC) .......... {kxu Xhkð 2428 (2018) yÃkLkkðu÷ Au.

(A) RhkLk Ãkh «ríkçktÄ ÷kËðk (B) W¥kh fkurhÞk Ãkh ykŠÚkf «ríkçktÄ ÷kËðk

(C) Ërûký MkwËkLk Ãkh nrÚkÞkhLkku «ríkçktÄ ÷kËðk (D) WÃkhkuõík{ktÚke fkuE Lknª

036. ¼khík fE heíku “«kËurþf MkwøkúrÚkík çknw-Mktfx ykã ÃkðoMkq[Lkk ÃkØrík” (RIMES) MkkÚku òuzkÞu÷wt Au ?

(A) ¼khík íkuLkk yæÞûk MÚkkLku Au. (B) ¼khíku nS yu MktMÚkkLkk MkÇÞ çkLkðkLkwt çkkfe Au.

(C) ¼khík yu MktMÚkkLkwt MÚkkÃkf Au. (D) ¼khík yu MktMÚkkLke yòÞçke Au.

037. ÃkuÞs¤ yLku MðåAíkk {tºkk÷Þ îkhk ykht¼kÞu÷ MðåA MkðuoûkýLkku ykËuþ ..........

(A) MðåAíkk Ãkrh{kýkuLku ykÄkhu {nkLkøkhkuLku ¢{çkØ fhðk.

(B) MðåAíkk Ãkrh{kýkuLku ykÄkhu ík{k{ hkßÞkuLke hksÄkLkeykuLku ¢{çkØ fhðe.

(C) MðåAíkk Ãkrh{kýkuLku ykÄkhu ík{k{ rsÕ÷kyku yLku hkßÞkuLku ¢{çkØ fhðk.

(D) MðåAíkk Ãkrh{kýkuLku ykÄkhu ík{k{ Ãkt[kÞíkkuLku ¢{çkØ fhðe.

038. Lkðe rËÕne{kt .......... Lkk yLkwhu¾ yLku ¾kus (xÙuf yuLz xÙuMk) {kxu ðkrýßÞ, Wãkuøk yLku Lkkøkhef WœÞLk {tºkeyu
“heÞwLkkEx (ReUnite)” {kuçkkE÷ yuÂÃ÷fuþLk þY fhe Au.

(A) rð{kLk {Úkf yÚkðk nðkE {wMkkVhe{kt ¾kuðkÞu÷ Mkk{kLk

(B) hksÄkLke{kt ¾kuðkÞu÷ ïkLkku

(C) ¾kuðkÞu÷k fkuBÃÞwxhku yLku {kuçkkE÷VkuLkku

(D) ¼khík{kt ¾kuðkÞu÷k yLku íkhAkuzkÞu÷k çkk¤fku
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039. «ÄkLk{tºke LkhuLÿ {kuËe îkhk Ähkunh ¼ðLk .......... Lkk {wÏÞk÷ÞLkwt WËT½kxLk fhðk{kt ykÔÞwt Au.

(A) ¼khíkeÞ nðk{kLkþkMºk rð¼køk (B) ¼khíkeÞ Ãkwhkík¥ð Mkðuoûký rð¼køk

(C) ¼khíkeÞ hk»xÙeÞ yr¼÷u¾køkkh (D) WÃkhkuõík{ktÚke fkuE Lknª

040. ¼khíkLkk Ãkwhkík¥ðeÞ Mkðuoûký {wsçk {w÷kfkíkeyku .......... rMkðkÞLkk ík{k{ fuLÿ hrûkík M{khfku yLku MÚk¤kuLke ytËh
íkMkðehku ¾U[e þfu Au.

(A) ystíkk økwVkyku, ÷un Ãku÷uMk yLku íkks {nu÷Lkk {fçkhk

(B) ystíkk økwVkyku, íkks {nu÷Lkk {fçkhk yLku fkuýkfo {trËh

(C) íkks {nu÷Lkk {fçkhk, fkuýkfo {trËh yLku ÷un Ãku÷uMk

(D) íkks {nu÷Lkk {fçkhk, ÷k÷ rfÕ÷ku yLku VíkunÃkwh Mkefhe

041. øk]n {tºkk÷Þu (MHA) ¾kMk fk{økehe {kxu “rðþu»k Mkt[k÷Lk [tÿf (Special Operation Medal)” {tsqhe ykÃke Au.
íku WÃkhktík ºký ðÄw [tÿfkuLke MÚkkÃkLkk fhe Au íku Lke[uLkk Ãkife fÞk Au ?

(A) yktíkhef Mkwhûkk [tÿf, yMkkÄkhý ykþw[Lk [tÿf, Wíf]ü yLku yrík Wíf]ü Mkuðk [tÿf

(B) yktíkhef Mkwhûkk [tÿf, yrík rðrþüíkk Mkuðk [tÿf, Wíf]ü Mkuðk [tÿf

(C) øk]n Mkwhûkk [tÿf, ykþw[Lk [tÿf, yrík Wíf]ü Mkuðk [tÿf

(D) yrík rðrþü Mkuðk [tÿf, Ãkh{ rðrþü Mkuðk [tÿf, yktíkrhf Mkwhûkk [tÿf

042. {kE¢ku M{ku÷ yuLz {erzÞ{ yuLxh«kEÍ (MSME) {tºkk÷Þu Mkku÷kh [h¾k {eþLkLke þYykík, hk»xÙÃkrík hk{LkkÚk
fku®ðË îkhk sqLk 27, 2018 yu ÚkE Au íkuLkku nuíkw ..........

(A) økúk{eý fwþ¤ fkheøkhkuLku Þktrºkf MkkÄLkku ykÃkðk

(B) økúk{eý ¾uzqíkkuLku Mkkih ÞkusLkkyku WÃk÷çÄ fhkððe

(C) fkheøkhkuLku 550 fhkuzLke MkçkMkeze ykÃkðe

(D) WÃkhkuõík ík{k{

043. fE y{uhefLk ftÃkLkeyu 27 sqLk, 2018Lkk hkus £U[ Wòo øk]Ãk, EDF MkkÚku fhkh fÞko Au su ytíkøkoík íku 6 ÞwhkuÃkeÞLk «uþhuxuz
rhyuõxh (ERP’s) suíkÃkwh LÞwõ÷eÞh Ãkkðh Ã÷kLxLku Ãkqhk Ãkkzþu.

(A) ðu®Mxøk nkWMk (B) sLkh÷ R÷uõxÙkuLkeõMk

(C) NRG yuLkSo (D) zâwf yLkSo

044. íkksuíkh{kt BSNL îkhk ònuh fhðk{kt ykðu÷e RLxhLkux xu÷eVkuLke (VOIP) MkuðkLkwt çkúkLz Lkk{ þwt Au ?

(A) SONIC (B) FASTRAC

(C) WINGS (D) JETAGE

045. 29 sqLk, 2018 Lkk hkus rn{k ËkMk fE VkELk÷ xÙuf MÃkÄko{kt rðï swrLkÞh yuÚ÷urxõMk [uÂBÃkÞLkrþÃk{kt rðsÞe ÚkE
níke ?

(A) 100 {exh Ëkuz (B) 200 {exh Ëkuz

(C) 300 {exh Ëkuz (D) 400 {exh Ëkuz
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046. fÞk Mk{wËkÞLku xqtf Mk{Þ{kt økwshkík{kt ÷½w{íke Ëhßòu ykÃkðk{kt ykðþu ?

(A) ÞnqËeyku (B) ÃkkhMke

(C) ®MkÄe (D) {wÂM÷{

047. økwshkíkLkk «Úk{ {wÏÞ{tºke fkuý níkk ?

(A) zkp. Sðhks LkkhkÞý {nuíkk (B) ©e çk¤ðtíkhkÞ {nuíkk

(C) ©e neíkuLÿ fu. ËuMkkE (D) ©e ½Lk~Þk{¼kE Mke. ykuÍk

048. ¼khíkLkk fÞk hkßÞ{kt rðïLkwt Ãknu÷wt yktíkhhkr»xÙÞ {kLkðíkkðkËe VkuhUrMkf fuLÿLke þYykík fhðk{kt ykðe ?

(A) Ãkrù{ çktøkk¤ (B) íkkr{÷Lkkzw

(C) økwshkík (D) sB{w fkÂ~{h

049. £kLMku VeVk (FIFA) rðï fÃkLke VkELk÷{kt ¢kuyurþÞkLku .......... Úke hnkÔÞwt níkwt.

(A) 4 - 3 økku÷ (B) 4 - 2 økku÷

(C) 5 - 4 økku÷ (D) 5 - 3 økku÷

050. þkt½kE fkuykuÃkhuþLk ykuøkuoLkkEÍuþLkLke ykíktfðkË rðhkuÄe ÷~fhe íkk÷e{Lke (SCO) Mktfuík-Mkt¿kk .......... Au, su{kt

çkeò ¼køkeËkhku MkkÚku ¼khík yLku ÃkkrfMíkkLk Ãký ¼køk ÷uþu.

(A) þktrík r{þLk (B) r{þLk {iºke

(C) r{þLk MktÄkLk (D) r{þLk yiõÞ

051. Lke[uLkk Ãkife fÞk fkhýMkh nk÷{kt {nuþ fw{kh {k÷kýe [[ko{kt Au ?

(A) Ãknu÷k ¼khíkeÞ{q¤Lkk ÔÞÂõík (PIO) suyku rðËuþ{kt (ykÞ÷uoLz{kt) «ÄkLk{tºke íkhefu [qtxkÞk.

(B) Ãknu÷k ¼khíkeÞ {q¤Lkk ÔÞÂõík (PIO) suyku Þw.yuLk. (UN){kt Þw.yuMk.yu. (USA)Lkk hksËqík çkLÞk.

(C) Ãknu÷k ¼khíkeÞ suyku NASALkk {kMko r{þLk{kt ÃkMktËøke ÃkkBÞk.

(D) íkuyku Ãknu÷k ®nËw W{uËðkhAu, su{ýu 2018Lke ÃkkrfMíkkLkLke [qtxýe{kt LkuþLk÷ yuMkuBçk÷e Mkex WÃkh Sík nktMk÷
fhe Au.

052. su{ýu ÃkkrfMíkkLk{kt 2018 Lke hk»xÙeÞ rðÄkLkMk¼kLku [qtxýe{kt MkkiÚke {kuxe çknw{íkeÚke Síke níke, íku E{hkLk ¾kLkLkk
Lkuík]íððk¤k hksfeÞ ÃkûkLkwt Lkk{ þwt Au ?

(A) ÃkkrfMíkkLk ÃkeÃkÕMk Ãkkxeo (PPP) (B) ÃkkrfMíkkLk íkunhef-yu-RLMkkV (PTI)

(C) ÃkkrfMíkkLk {wÂM÷{ ÷eøk (PML) (D) íkunhef-yu-RM÷k{e

053. økwshkíkLkwt Ãkqýko ðLÞSðLk y¼Þkhý .......... Lkku ¼køk Au.

(A) ®ðæÞk Ãkðoík{k¤k (B) MkíkÃkwzk Ãkðoík{k¤k

(C) Ë¬LkLkk ÃkXkh (D) Ãkrù{ ½kx

054. ¼ÿuïh .......... Au.

(A) ykMkk{{kt fkr÷ {kíkkLke Ãkqò {kxuLkwt {trËh (B) ykurzþk{kt rþð ËþoLkLkwt {trËh

(C) økwshkíkLkwt siLk íkeÚkoÄk{ (D) rçknkhLkwt çkkiØ ÞkºkkLkwt MÚk¤
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055. Mkqr[-I yLku Mkqr[-II Lku ÞkuøÞ heíku òuzku.

Mkqr[-I ({nu÷) Mkqr[-II (MÚk¤)

(a)  ¾ehMkhk Ãku÷uMk (i)   hksfkux

(b)  ykufkozo Ãku÷uMk (ii)  økkUz÷

(c)  rðsÞ rð÷kMk Ãku÷uMk (iii) {ktzðe

(d)  ÷û{e rð÷kMk Ãku÷uMk (iv) çkhkuzk

Lke[uLkk Mktfuíkku{ktÚke ÞkuøÞ sðkçk ÃkMktË fhku.

(A)  a - i,  b - ii,  c - iii,  d - iv (B)  a - ii,  b - iii,  c - iv,  d - i

(C)  a - iii,  b - iv,  c - i,  d - ii (D)  a - iv,  b - i,  c - ii,  d - iii

056. MkkuLkøkZ rfÕ÷kLkwt rLk{koý .......... îkhk fhðk{kt ykÔÞwt níkwt.

(A) rþðkS (B) rÃk÷kShkð økkÞfðkz

(C) ®nËw [wzkMk{k þkMkfku (D) rçkúxeþ fLko÷ rðr÷Þ{ fkuÞh

057. økwshkíkLkk fÞk «ÏÞkík rfÕ÷kLkk [kh «ðuþîkh Au, su{kt Ãkqðo{kt ykðu÷k îkhLku nehk ¼køk¤, Ãkrù{Lkk îkhLku ðzkuËhk
îkh, W¥khLkk îkhLku [ktÃkkLkuh îkh yLku Ërûkýe îkhLku LkkËkuË îkh íkhefu yku¤¾ðk{kt ykðu Au ?

(A) WÃkhfkux rfÕ÷ku (B) z¼kuE rfÕ÷ku

(C) E÷ðk Ëwøkko (D) ÄkuhkS rfÕ÷ku

058. WMíkkË {ki÷kLkk çkûku ðzkuËhk{kt Mktøkeík rþûký MktMÚkkLke þYykík fhe níke, su ykøk¤ síkk ðzkuËhkLkwt Mktøkeík {nkrðãk÷Þ
.......... Lke MknkÞÚke çkLÞwt.

(A) {nkhkò MkÞkShkð økkÞfðkz (B) ðk½u÷k hksðtþLkk fhýËuð

(C) y÷kWÆeLk r¾÷S (D) ykLktËhkð økkÞfðkz

059. nÕ÷eMkkfk Lk]íÞ ÃkhtÃkhk økwshkíkLkwt {q¤ Míkkuºk Au. yk Lk]íÞþi÷eLkku WÕ÷u¾ .......... {kt «Míkwík fhkÞku níkku.

(A) {u½Ëqík (B) nrhðtþ Ãkwhký

(C) hk{÷e÷k (D) rð»ýw Ãkwhký

060. økwshkíkLke MkkrníÞ ÃkhtÃkhk {kuxu¼køku .......... MkkÚku òuzkÞu÷e Au.

(A) ¼Âõík yktËku÷Lk (B) {nkøkwshkík yktËku÷Lk

(C) {hkXk yktËku÷Lk (D) {nfkuþk÷ yktËku÷Lk

061. òu Ërûký-Ãkqðo W¥kh çkLku, W¥kh-Ãkqðo Ãkrù{ çkLku yLku íkuÚke ðÄw, íkku Ãkrù{ þwt çkLkþu ?

(A) W¥kh-Ãkrù{ (B) W¥kh-Ãkqðo

(C) Ërûký-Ãkrù{ (D) Ërûký-Ãkqðo

062. ¼qftÃk yk÷u¾Lk : ¼qftÃk :  : Ëçkkð {kÃkf : ..........
(MkeM{kuøkúkVe    : ¼qftÃk :  : xuMkeyku{exh : ..........)

(A) ¼qM¾÷Lk (B) «rffkhku (yðhkuÄku)

(C) Ëçkkðku (D) ßðk¤k{w¾e
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063. 1 Úke 100 MkwÄe ík{u yktfzk ÷¾ku Aku íÞkhu fux÷e ð¾ík 3 ÷¾ku Aku ?

(A) 12 (B) 15

(C) 20 (D) 23

064. yuf ÔÞÂõík íkhV yktøk¤e [ªÄíkk yuf ÃkwY»ku MºkeLku fÌkwt “Ãku÷kLke {kíkk yu ík{khk rÃkíkkLke yuf {kºk Ãkwºke Au.” Ãku÷e Mºke
íku ÔÞÂõík MkkÚku Lke[uLkk Ãkife fÞwt MkøkÃký Ähkðu Au ?

(A) {kíkk (B) ÃkÂíLk

(C) Ãkwºke (D) fkfe

065. zktøk Ëhçkkh .......... rËðMkeÞ ðkŠ»kf MkktMf]ríkf íknuðkh nku¤eLke MkkÚku Wsððk{kt ykðu Au.

(A) 3 (B) 5

(C) 1 (D) 1

066. yuf ðøko{kt òðuË xku[ ÃkhÚke 9 {k ¢{u Au yLku Lke[uLke 38 {k ¢{u Au. ðøko{kt fux÷k rðãkÚkeo nþu ?

(A) 45 (B) 46

(C) 47 (D) 48

067. {kuZuhk Lk]íÞ {nkuíMkð økwshkíkLkku MkktMf]ríkf ÃkhtÃkhkLkku yuf ¼køk Au. {kuZuhk Lk]íÞ {nkuíMkðLkwt {wÏÞ ykf»koý .......... .

(A) ÃkÕ÷e søk økhçkku (B) {rýÞkhku hkMk

(C) Xuf rðrþü økhçkk «ËþoLk (D) ËktrzÞk rðrþü hkMk

068. MkqÞkuoËÞu {ËLk yuf Úkkt¼÷k Mkk{u W¼ku níkku, Úkkt¼÷kLkku ÃkzAkÞku {ËLkLke çkhkçkh s{ýe çkkswyu níkku. {ËLk fE
rËþk{kt ðËLk fhe W¼ku níkku ?

(A) Ãkqðo (B) Ãkrù{

(C) Ërûký (D) W¥kh

069. 2.2  5.6 + 17.8 = .....?.....

(A) 30.12 (B) 30.012

(C) 31.12 (D) 31.012

070. Lke[uLkk Ãkife fE yuf MktÏÞkLke òuze / sqÚk yLÞÚke y÷øk Au ?

(A) 7 : 22 (B) 8 : 33

(C) 12 : 37 (D) 15 : 46

071. Lke[uLkk Ãkife ºký fkuEf heíku yuf Mkh¾k Au, íkuÚke yuf s ðøko{kt Mk{krðü Au; fÞwt yu ðøko{ktLkwt LkÚke ?

(A) yLkuLkkMk (B) ò{V¤

(C) ÿkûk (D) ÃkÃkiÞwt

072. økwshkíke MkkrníÞ Ãkrh»kËLkk MÚkkÃkf fkuý níkk ?

(A) hýrsíkhk{ {nuíkk (B) yþkuf {nuíkk

(C) [tÿfkLík xkuÃkeðk¤k (D) RLËw÷k÷ Þkr¿kf
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073. Lke[uLkk rðÄkLkku swyku íkuLkk ykÄkhu fÞw / fÞk íkkhýku MkkiÚke ðÄw ÞkuøÞ Au yu Lk¬e fhku.

rðÄkLkku : fux÷kf ðkxfk [{[k Au.

fux÷kf [{[k fktxk Au.

çkÄks fktxk Úkk¤k Au.

íkkhý : (I)    fux÷kf ðkxfk fktxk Au.

(II)   fux÷kf [{[k Úkk¤k Au.

Lke[uLkk{ktÚke ÞkuøÞ sðkçk ÃkMktË fhku.

(A) {kºk I Mkk[wt (B) {kºk II Mkk[wt

(C) I yLku II çkLLku Mkk[k (D) I yLku II çkLLku ¾kuxk

074. ð]ûkLkk .......... n{Uþk nkuÞ Au.

(A) {q¤ (B) ÃkkLk

(C) zk¤ (D) ÃkzAkÞk

075. Lke[uLkk{ktÚke fÞwt yuf ÃkÞkoÞe ðøko{ktLkwt Lkrn, Ãký y÷øk sýkÞ Au ?

(A) yæÞûk (B) Mk¼kÃkrík

(C) «{w¾ (D) Ëw¼k»ke

076. òu  ‘Mkhðk¤k’ {kxu nkuÞ, òu  ‘çkkËçkkfe’ {kxu nkuÞ, òu + ‘økwýkfkh’ {kxu nkuÞ yLku – ‘¼køkkfkh’ {kxu nkuÞ,

íkku 20  8  8 – 4 + 2 =  .....?.....

(A) 30 (B) 25

(C) 24 (D) 21

077. òu ‘Q’ yux÷u ‘íku{kt W{uhku fhku’, òu ‘J’ yux÷u ‘íkuLkku økwýkfkh fhku’, òu ‘T’ yux÷u ‘íku{ktÚke çkkËçkkfe fhku’, òu ‘K’

yux÷u ‘íkuLkkÚke ¼køkkfkh fhku’, íkku 30 K 2 Q 3 J 6 T 5  =  .....?.....

(A) 38 (B) 31

(C) 28 (D) 103

078. 12 : 30 :  : 14 : .....?.....

(A) 36 (B) 28

(C) 35 (D) 42

079. 7 + 7  7 + 7  7 – 7 = .....?.....

(A) 0 (B) 42

(C) 50 (D) 57

080. Mk{efhý Wfu÷ku : 5y – 6 = 3y – 8

(A)  –1 (B)  1

(C)  –2 (D)  2

081. MkqÞoLkk ðkíkkðhýLkk çkkÌk¥k{ ¼køkLku .......... fnuðkÞ Au.

(A) VkuxkuMVeÞh (B) ¢ku{kuMVeÞh

(C) fkuhkuLkk (D) WÃkhkuõík{ktÚke fkuE Lknª
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082. NASA Lkwt Mkku÷h r{þLk .......... íkhefu òýeíkwt Au.

(A) yuðeyuxh Mkku÷h «kuçk (B) swLkku r{þLk

(C) «kusuõx fkuLMxu÷uþuLk (D) Ãkkhfh Mkku÷h «kuçk

083. 2019 {kt fkuýu Mkuxu÷kEx yÚkuLkkLkwt «ûkuÃký fhðkLke ÞkusLkk çkLkkðe Au ?

(A) økwøk÷ (Google) (B) VuMkçkwf (Facebook)

(C) EÞw (EU) (D) rçkúõMk (BRICS)

084. NASA Lkk nçk÷ ytíkheûk ËqhËþeo îkhk rLknk¤ðk{kt ykðu÷k ËqhLkk íkkhkLkwt Lkk{ þwt Au ?

(A) MkkEhMk (B) fkufqLk

(C) fuÃku÷k (D) RfkhMk

085. nk÷{kt ði¿kkrLkfkuLkk MktþkuËLkLkk ykÄkhu {kLkð þhehLkk fÞk xe~Þw fu yðÞð îkhk fuLMkhLkk «MkkhLku Mk{S þfkÞ Au ?

(A) ÷wtfe ðkExMk (Lunkivitus) (B) ELxhMxuxeÞ{ (Interstitum)

(C) ÃkuLMkeÞxeÞ{ (Pansitium) (D) ELxuMxeLkeÞ{ (Intestinium)

086. yÚko ykðh (Earth Hour) 2018Lke 24 {k[o yu .......... Mk{Þ ËhBÞkLk «ÞkuòÞ Au.

(A) 8:30 a.m. Úke 9:30 a.m. (B) 8:30 p.m. Úke 9:30 p.m.

(C) 8:30 a.m. Úke 9:00 p.m. (D) 8:00 p.m. Úke 9:00 p.m.

087. ¼khíkeÞ yýw Qòo rð¼køk (DAE) îkhk fÞw ÷uMkh ykÄkrhík MkkÄLk rðfMkkððk{kt ykÔÞwt Au, su ¼qøk¼os¤{kt ÞwhuLk÷
MkkuÕxLkk MkktÿýLkwt {kÃkLk fhu Au ?

(A) ÞwhuLkeÞ{{exh (B) yuxku{exh

(C) yuLkSo{exh (D) ^÷kuhe{exh

088. ¼khík Mkhfkh îkhk þY fhðk{kt ykðu÷e Mkuðk ¼kus ÞkusLkk þwt Au ?

(A) yk ÞkusLkk Úkfe «MkkË, ÷tøkh, ¼tzkhk rðøkuhuLkk ¼kusLk çkLkkððk{kt WÃkÞkuøk{kt Úkíke Mkk{økúe WÃkh S.yuMk.xe.Lkk

ÃkiMkk Mkhfkh Ãkhík fhþu, suÚke MkuðkfeÞ MktMÚkyku yLku [uhexuçk÷ xÙMxku su ÷kufkuLku rðLkk {qÕÞ ¼kusLk fhkðu Au íku{Lku
÷k¼ Úkþu.

(B) ÄkŠ{f MktMÚkkykuLku yk ÞkusLkkÚke fh {wÂõík ykÃkþu.

(C) yk ÞkusLkk yuøkúku WíÃkkËLkku 2.5% CGST Lkwt ÔÞðMÚkkÃkLk fhþu.

(D) WÃkhkuõík{ktÚke fkuE Lknª

089. íkksuíkhLke BRICS Mkr{x sw÷kE 2018 .......... MÚk¤u ÚkE níke.

(A) òunkLMkçkøko, Ërûký ykr£fk (B) økkuyk, ¼khík

(C) ÍkE{Lk, [eLk (D) WËÞÃkwh, ¼khík

090. Lke[uLkk Ãkife fÞk çku ¼khíkeÞkuyu 2018 Lkku hku{Lk {uøMkuMku yuðkuzo SíÞku Au ?

(A) yh®ðË fusheðk÷ yLku MkkuLk{ ðktøk[wf (B) ¼hík ðkxðkLke yLku MkkuLk{ ðktøk[wf

(C) rfhý çkuËe yLku MkkuLk{ ðktøk[wf (D) ¼hík ðkxðkLke yLku rfhý çkuËe

091. Lke[uLkk Ãkife fE çku {kuçkkE÷ ftÃkLkeykuLkwt nk÷{kt yufrºkfhý ÚkÞwt Au ?

(A) ðkuzkVkuLk ELzeÞk yLku ykEzeÞk MkuÕÞw÷h (B) ÞwrLkLkkuh yLku ðkuzkVkuLk ELzeÞk

(C) yuhxu÷ yLku ykEzeÞk MkuÕÞw÷h (D) Syku yLku ykEzeÞk MkuÕÞw÷h
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092. Ãkrù{ çktøkk¤ rðÄkLkMk¼kyu hkßÞLkwt Lkk{ çkË÷e .......... hk¾ðk Xhkð fÞkuo.

(A) çktøkk¤ (B) çkktøk÷k

(C) Ãkrù{ çktøkk (D) WÃkhkuõík{ktÚke fkuE Lknª

093. ¼khíku «Úk{ ð¾ík su{kt ¼køk ÷eÄku yu ‘Ãke[ ç÷uf íkk÷e{’ þwt Au ?

(A) Þw.yuMk. LkkiMkuLkk MknÞkuøke yLku íku{Lkk Þs{kLk ÃkËu fk¤k Mk{wÿ{kt ÚkLkkh íkk÷e{

(B) «þktík {nkMkkøkh{kt yá~Þ ÚkÞu÷ {÷uþeÞLk yuh÷kELMkLkk rð{kLk MH370 Lkwt çk[kð yr¼ÞkLk

(C) hkuÞ÷ ykuMxÙur÷ÞLk yuh VkuMko îkhk Þkusðk{kt ykðu÷e yuf çknwhk»xÙeÞ íkk÷e{

(D) WÃkhkuõík {ktÚke fkuE Lknª

094. fE ¼khíkeÞ [÷ýe Lkkux ‘hkLke fe ðkð’Lke AkÃk Ähkðku Au ?

(A) 20 (B) 10

(C) 100 (D) 500

095. LkuÕMkLk {tzu÷k yktíkhhk»xÙeÞ rËðMk yk¾k rðï{kt .......... Lkk hkus WsðkÞ Au.

(A) 8 sw÷kE (B) 18 sw÷kE

(C) 28 sw÷kE (D) WÃkhkuõík{ktÚke fkuE Lknª

096. 17 sw÷kE 2018 Lkk hkus £ktMk{kt ÞkuòÞu÷e “Mkkuíkurð÷u yuÚk÷urxõMk {ex”{kt fÞk ¼khíkeÞ h{íkðehu ¼k÷k VUf{kt

Mkwðýo [tÿf {u¤ÔÞku níkku.

(A) rðrÃkLk fMkkýk (B) ËuðuLÿ ÍkÍheÞk

(C) ËrðLËh ®Mkn fktøk (D) Lkehs [kuÃkzk

097. fÞk ËuþLkk MÚkkLku ¼khík rðïLkwt Aêw MkkiÚke {kuxw yÚkoíktºk çkLÞwt ?

(A) £kLMk (B) Þw.fu.

(C) ykuMxÙur÷Þk (D) ®MkøkkÃkkuh

098. fÞk hkßÞLkk Wå[ LÞkÞk÷Þu hkßÞLkk «kýeykuLku “rðrÄf ÔÞÂõíkíð”Lkku Ëhßòu ykÃÞku Au ?

(A) ykMkk{ (B) yYýk[÷ «Ëuþ

(C) W¥khk¾tz (D) nrhÞkýk

099. rÃkÞw»k økkuÞ÷ îkhk þY fhðk{kt ykðu÷ ¾kLk-«nhe yuÃk .......... {kxu Au.

(A) fku÷MkkLke ¾kýLke økuhfkÞËuMkh «ð]r¥kLke rðYØ VrhÞkË fhðk

(B) huíke ¾LkLkLkk {krVÞkLku Ãkfzðk

(C) ÞwhurLkÞ{ ¾LkLk Ãkh rLkÞtºký ÷kËðk

(D) økuhfkÞËuMkh ¾LkLk rðYØ VrhÞkË fhðk yLku {kuLkkÍkEx huíkeLkk ÃkwhðXk

100. ¼khík rLkðko[Lk ykÞkuøku 2018 Lke [qtxýe ËhBÞkLk ykËþo yk[kh MktrníkkLkk WÕ÷t½LkLkku rhÃkkuxo fhðk LkkøkrhfkuLku Mkûk{
çkLkkððk .......... yuÃk þY fhe níke.

(A) eVIGIL (B) polVIGIL

(C) elVIGIL (D) cVIGIL

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AEP - A ] 14 [Contd.

101. Uterine artery is a branch of

(A) Internal iliac artery (B) External iliac artery

(C) Obturator artery (D) Common iliac artery

102. The uterus develops from

(A) Mesonephric duct (B) Para-mesonephric duct

(C) Garteners duct (D) Metanephros

103. Ureter derives blood supply from all of the following except

(A) Internal ilic artery (B) External iliac artery

(C) Uterine artery (D) Obturator artery

104. The functions of normal cervix are

(A) Its mucus enables sperm entry & provides nutrition

(B) Sieves out abnormal sperms & causes capacitation of sperms

(C) Prevents ascending infection

(D) All of the above

105. Which of the following does not provide ligamentory support to the uterus

(A) Mackendrodt ligament (B) Uterosacral ligament

(C) Round ligament (D) Pubocervical ligament

106. Normal vaginal epithelium stains deep brown with schillers iodine because

(A) It contains no glands (B) It contains glycogen

(C) It contains alkaline phosphatase (D) It contains dysplastic cells

107. Progesterone has which of the following function

(A) It prepares endometrium for implantation

(B) It maintains tone of internal sphincter of cervix

(C) It relaxes the uterus

(D) All of the above

108. Which of the following statement is false in terms of effect of estrogen on cervix

(A) Ferning of cervical mucus (B) Positive spinbarkeit test

(C) Copius cervical secretion at ovulation (D) Increased viscosity the cervical mucus

109. Hot flushes at menopause are due to

(A) Excess of testosterone (B) GnRh deficiency

(C) Estrogen deficiency (D) High FSH level

110. Vaginal cytology in a menopausal women shows

(A) Basal cells (B) Intermediate cells

(C) Cornified cells (D) All of the above cells

111. For cancer detection the best site for taking pap smear

(A) Posteror fornix (B) Squamo-columnar junction

(C) Endocervix (D) Lateral vaginal wall

112. Hormonal study is best done by scrapping

(A) Upper lateral vaginal wall (B) Lower lateral vaginal wall

(C) Squamo-columnar junction (D) Endocervical canal
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113. Postcoital test indicates

(A) Morphology of sperms (B) Immunological factor

(C) Cervical mucus study (D) All of the above

114. Hysterosalpingogram shows beaded appearance & calcification in fallopian tubes possible

diagnosis is-

(A) gonococcal salpingitis (B) puerperal salpingitis

(C) chlamydial infection (D) genital tuberculosis

115. Combined oral pills protects against following cancers except

(A) Ovarian cancer (B) Uterine cancer

(C) Breast cancer (D) Colonic cancer

116. Prostaglandins is contraindicated in all of the following except

(A) Bronchial asthma (B) Cardiac disease

(C) Ulcerative colitis (D) Liver disease

117. Which of following statement about mirena is false

(A) Mirena suppress ovulation

(B) Mirena is used to cure menorrhagia & endometrial hyperplasia

(C) Mirena is used following adhesiolysis in ashermans syndrome

(D) Mirena life span is 5 yrs.

118. Following are the contraindications of laparoscopy except

(A) Cardiovascular disease (B) Umbilical hernia

(C) Diaphragmatic hernia (D) Pelvic adhesions

119. Chemotherapy is the primary treatment in which of the following

(A) Sarcoma of uterus (B) Endocervical cancer

(C) Choriocarcinoma (D) Embryonal sinus tumour of the ovary

120. Signet cells are seen in

(A) Brenners tumour (B) Krukenburgs tumour

(C) Arrhenoblastoma (D) Germ cell tumors of ovary

121. Grannulosa cell tumour is associated with -

(A) Hirsuitism (B) Endometrial cancer

(C) Polycystic ovarian disease (D) Excess androgen secretion

122. Which of the following cystic tumour has highest malignant potential

(A) Papillary cystadenoma (B) Mucinous cystadenoma

(C) Dermoid cyst (D) Chocolate cyst

123. Which of the following tumour is radiosensitive

(A) Dysgerminoma (B) Teratoma

(C) Embryonal cell tumour (D) None of the above
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124. Treatment of stage Ib endometrial cancer is

(A) Total abdominal hysterectomy(TAH) with bilateral salpingo-oophorectomy(BSO) followed

by radiotherapy (RT)

(B) TAH +BSO preceeded by pre-op RT & followed by post op radiation

(C) Radiotherapy

(D) Surgery + chemotherapy

125. Suburethral metastasis is seen in all of following except-

(A) Endometrial cancer (B) Cervical cancer

(C) Chorio-carcinoma (D) Ovarian metastsis

126. The most significant prognostic factor in carcinoma of cervix

(A) Age of woman (B) Parity

(C) Tumour volume (D) Histology

127. Which of the following findings in pap smear suggests invasive nature of cancer

(A) Tadpole cells (B) Inflammatory background

(C) Increased nuclear/cytoplasmic ratio (D) Mitosis

128. Postmenopausal bleeding occurs in all of the following except-

(A) Granulosa cell tumour (B) Theca cell tumour

(C) Brenner tumour (D) Dysgerminoma

129. Which of the following tumour is not seen in children

(A) Dermoid cyst (B) Brenner tumour

(C) Dysgerminoma (D) Teratoma

130. Treatment of adenomyosis is-

(A) Hysterectomy (B) Enucleation

(C) Shrinkage with GnRh (D) Shrinkage with danazol

131. Which of the following is most common fibroma

(A) Subserous (B) Interstitial

(C) Submucous (D) Cervical

132. The treatment of puerperal inversion is

(A) Oxytocin drip (B) Hysterectomy

(C) Haultains operation (D) O" sullivans hydrostatic pressure

133. Nabothian follicle is

(A) Distension cyst of endocervical glands (B) Polypoidal growth from ectocervix

(C) Precancerous lesion (D) None of the above

134. Which of following does not cause pyometra

(A) Endometrial cancer (B) Cervical cancer

(C) Puerperal sepsis (D) Senile cervical stenosis

135. Cyproterone acetate causes

(A) Amenorrhea (B) Loss of libido in women

(C) Suppression of spermatogenesis (D) All of the above
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136. Which of following does not relieve hot flushes & palpitation in postmenopausal Woman

(A) Oestrogen (B) Tibolone

(C) Raloxifene (D) Clonidine

137. Ultrasound features of PCOD includes all of following except-

(A) Peripherally placed follicles (B) Enlarged ovaries

(C) Increased stroma (D) Presence of corpus luteum

138. Sheehan"s syndrome causes which of the following

(A) Prolonged lactation (B) Hypothyroidism

(C) Hyper-prolactenemia (D) None of the above

139. Which of the following is the cause of Asherman syndrome

(A) Tubercular endometritis (B) Vigourous curettage

(C) Endometrial resection (D) All of the above

140. Which of following features is not seen in acute ectopic pregnancy

(A) Amenorrhea (B) Severe abdominal pain

(C) Profuse vaginal bleeding (D) Tenderness in fornix

141. Primary treatment in genital choriocarcinoma is-

(A) Surgery (B) Chemotherapy

(C) Radiotherapy (D) Surgery followed by radiotherapy

142. Stress incontinence of urine is caused by all of following except-

(A) Loss of urethral closure pressure (B) Loss of urethrovesical angle

(C) Damage to pudendal nerve (D) Low bladder pressure

143. A 14 year old girl presents with primary amenorrhea and acute retension of urine. The possible

diagnosis is-

(A) Retroverted uterus

(B) Uterine fibroid impacted in pouch of doughlas

(C) Hematocolpos

(D) Dysgerminoma of ovary

144. Which of the following pelvis is most likely to cause a bladder fistula during labour

(A) Gynecoid pelvis (B) Flat pelvis

(C) Android pelvis (D) Anthropoid pelvis

145. Intestinal injury can be implicated in all of the following except-

(A) Laparoscopic fulguration of endometriosis

(B) Hysteroscopic endometrial ablation

(C) Repeat abdominal surgery

(D) Laser ablation of cervical cancer in situ

146. Infertility in fibroid uterus is caused by all except-

(A) Cornual fibroid (B) Associated pelvic inflammatory disease

(C) Associated pelvic endometriosis (D) A big subserous fibroid
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147. Meigs syndrome comprises which of the following-

(A) Ascites (B) Right sided hydrothorax

(C) Ovarian tumour (D) All of the above

148. Intracytoplasmic sperm injection (ICSI) is indicated in-

(A) Oligospermic infertility (B) Asthenospermia

(C) Obstructive azoospermia (D) All of the above

149. Which is the indication of second look surgery

(A) To detect residual tumour following chemotherapy

(B) To decide on further need of chemotherapy

(C) To perform a definite surgery following chemotherapy

(D) All of the above

150. Turner syndrome is characterized by all except-

(A) Streak ovaries (B) Primary amenorrhea

(C) Well defined secondary sex characters (D) Short stature

151. All of the following are positive signs of pregnancy except-

(A) Amenorhoea (B) Perception of fetal heart sounds

(C) Auscultation of FHS (D) Sonograhic evidence of fetus in uterus

152. All of the following are features of true labour pains except-

(A) Lightening

(B) Show

(C) Dilatation & effacement of cervix

(D) Bulging of the membranes during uterine contractions

153. To be of value FHR is to be auscultated

(A) During uteine contraction

(B) Before & during uterine contraction

(C) Immediately following uterine contractions

(D) During uterine relaxation

154. Best way to diagnose fetal maturity

(A) Straight X ray abdomen (B) Serial sonographic fetal biometry

(C) Amniocentesis (D) Clinical examination

155. Known causes of breech presentation are all except-

(A) Prematurity (B) Hydrocephalus

(C) Placenta previa (D) Arcuate uterus

156. Biological half life of oxytocin is

(A) 1-2minutes (B) 3-4minutes

(C) 5-6 minutes (D) 7-8 minutes

157. Fetal hemopoiesis first occurs in-

(A) Yolk sac (B) Fetal liver

(C) Fetal spleen (D) Fetal bone marrow
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158. Macrosomia is occasionally related to all except-

(A) Maternal obesity (B) Gestational diabetes

(C) Prolonged pregnancy (D) Maternal hypertension

159. Pearl index is related with

(A) Degree of contracted pelvis (B) Cervical scoring prior to induction

(C) Assessment of high risk pregnancy (D) Contraceptive effectiveness

160. Following are the causes of direct maternal death except-

(A) Abortion (B) Hemorrhage

(C) Anemia (D) Eclampsia

161. Following drugs cross placental barrier except-

(A) Warfarin (B) Heparin

(C) Digoxin (D) Aspirin

162. Intra-venous ergometrine during 3rd stage of labour should not be given in all except-

(A) Cardiac disease (B) Pre-eclampsia

(C) Rhesus negative (D) Fibroid uterus

163. The most common complication of eclampsia

(A) Renal failure (B) Pulmonary edema

(C) Cerebral hemorrhage (D) Psychosis

164. Antimalarial drug of choice during pregnancy

(A) Chloroquin (B) Quinine

(C) Pyrimethamine (D) Spiramycin

165. The commonest complication of hydatiform mole is-

(A) Hemorrhage (B) Pulmonary embolism

(C) Hyperemesis (D) Chorio-carcinoma

166. Commonest cause of postpartum hemorrhage is

(A) Uterine atony (B) Retained placenta

(C) Coagulation defects (D) Injury to genital tract

167. Amniocentesis is best diagnostic if done

(A) 8-10 wks (B) 12-14 wks

(C) 16-18 wks (D) 20-22 wks

168. Puerperal sepsis will have following features except

(A) Offensive vaginal discharge (B) Fever

(C) Subinvolution of uterus (D) Engorgement of breast

169. Deep transverse arrest is common in

(A) Gynecoid pelvis (B) Android pelvis

(C) Anthropoid pelvis (D) Flat pelvis

170. All of the following are associated with polyhydramnios except-

(A) Anencephaly (B) Diabetes in pregnancy

(C) Renal agenesis (bilateral) (D) Oesophageal atresia
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171. Greenish colour of meconium is due to-

(A) Bile pigment (B) Altered blood

(C) Bile salts (D) Desquamated epithelial cells

172. DIC in pregnancy is seen in following conditions except-

(A) Amniotic fluid embolism (B) Abruption placenta

(C) Intrauterine death (D) Threatened abortion

173. Largest diameter in cephalic presentation is

(A) Bi-parietal diameter (B) Mento-vertical

(C) Sub-occipitobregmatic (D) Submento-bregmatic

174. Presence of lutein cysts in vesicular mole is due to excess of -

(A) FSH (B) LH

(C) Oestrogen (D) hCG

175. Commonest cause of non-engagement of head at term-

(A) Hydrocephalous (B) Deflexed head

(C) Full bladder (D) Congenital goiter

176. Breast feeding should be started

(A) Immediately after birth (B) 6 hrs after birth

(C) 12 hrs after birth (D) 24 hrs after birth

177. Umbilical cord contains -

(A) Two arteries and two veins (B) Two veins and one artery

(C) Two artery and one vein (D) One artery and one vein

178. Symmetrical IUGR may be due to-

(A) Chromosomal anomaly (B) TORCH infection

(C) Both of above (D) None of the above

179. Chorion venous sampling is done in all except-

(A) Thallasemia (B) Phenyl ketourea

(C) Downs syndrome (D) Neural tube defect

180. White’s classification of diabetes in pregnancy is based on all except-

(A) Onset of diabetes (B) Duration of diabetes

(C) Level of hyperglycemia (D) Need of insulin

181. Shortest diameter of fetal skull

(A) Sub-occipitobregmatic (B) Bi-temporal

(C) Sub-occipito-frontal (D) Bi-parietal

182. Snowstorm appearance in USG is seen in

(A) Ectopic pregnancy (B) Hydatid mole

(C) Hydramnios (D) Hydrocephalous

183. According to WHO anemia in pregnancy is diagnosed when hemoglobin level is lass than

(A) 9 gm/dl (B) 10 gm/dl

(C) 11 gm/dl (D) 12 gm/dl
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184. All of the following predispose to Rh-isoimmunisation in pregnancy except

(A) Elderly primigravida (B) Antepartum hemorrhage

(C) Operative delivery (D) Post-dated pregnancy

185. All of the following are actively transported across placenta except-

(A) Amino acid (B) Vitamin C

(C) Vitamin D (D) Iron

186. Bilateral renal agenesis is associated with-

(A) Oligohydramnios (B) Anencephaly

(C) Preterm labour (D) Tracheo-esophageal fistula

187. Commonest cause of Ist trimester abortion is-

(A) Hormonal causes (B) Incompetent cervix

(C) Chromosomal defect (D) Antiphospholipid syndrome

188. Nitabuch"s layer is absent in

(A) Placenta previa (B) Placenta accreta

(C) Abruption placenta (D) Vasa previa

189. Best method of induction of labour in hydramnios-

(A) High rupture of membranes

(B) Low rupture of membranes

(C) Abdominal amniocentesis followed by stabilizing oxytocin drip

(D) Prostaglandins

190. The best way to tackle the blood coagulation disorder in placenta previa

(A) Massive relatively fresh blood transfusion

(B) To administer antifibrinolytic agents

(C) To administer fibrinogen rich substance

(D) Heparin

191. Safest method of contraception in sickle cell anemia

(A) Oral pill (B) IUCD

(C) Barrier method (D) Progestin only pill

192. Maternal plasma volume is reduced in

(A) Iron deficiency anemia (B) Pre-eclampsia

(C) Macrosomia (D) Multiple pregnancy

193. Trial of labour is characterized by

(A) Labour is usually induced

(B) Oxytocin stimulation should not be used

(C) Should not be initiated in non-engaged head

(D) Considered for cases with suspected cephalo-pelvic disproportion
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194. The following are related to face to pubis delivery except-

(A) Bi-parietal diameter (9.5 cm) streches the perineum

(B) Sub-occipitofrontal diameter diameter (10 cms) emerges out of introitus

(C) Spontaneous delivery is common in anthropoid or gynecoid pelvis

(D) Head is born by flexion

195. Shoulder dystocia occurs in all except-

(A) Big baby (B) Anencephaly

(C) IUGR (D) Normal sized baby

196. Regarding Manual vaccum aspiration (MVA) all are true except-

(A) MVA is daycare procedure.

(B) This procedure is done under local anesthesia

(C) The equipment can be re-used following decontamination & sterilisation

(D) This procedure is more expensive

197. As regard to mother to child transmission (MTCT) in HIV which statement is false

(A) MTCT is nearly 40%in HIV positive women

(B) Breast feeding doubles the rate of HIV transmission

(C) Elective cesarian delivery,use of anti-viral drugs & avoidance of breast feeding will reduce

the transmission rate to < 2%

(D) When the viral load is undetectable,MTCT does not occur.

198. Beneficial effects of "pill users" are all except-

(A) Reduced ovarian malignancy (B) Improved symptoms of endometriosis

(C) Decreased menstrual loss (D) Reduced cervical malignancy

199. The commonest cause of perinatal death in India

(A) Prematurity (B) Asphyxia

(C) Intra-cranial hemorrhage (D) Congenital malformation

200. Hemodynamic changes in pregnancy are all except-

(A) Increase in cardiac output (B) Increase in heart rate

(C) Reduction in vascular resistance (D) Increase in Mean arterial pressure

201. Duration of latent phase of labour is affected by

(A) Activity of patient (B) Condition of cervix

(C) Pre-eclmpsia (D) Hypertonic uterine contraction

202. True about Bacterial vaginosis

(A) Typical whitish grey discharge (B) Main cause of chronic PID

(C) 'Clue cells' are seen (D) Vaginal ph between 4&6

203. Mannings score includes all except

(A) Fetal tone (B) Fetal breathing movements

(C) Bi-parietal diameter (D) Amniotic fliud index
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204. Post menopausal estrogen production is due to

(A) Peripheral aromatization of androstenedione

(B) Adrenal direct production

(C) Conversion of testosterone

(D) All of the above

205. Relative Contra indications for breastfeeding are all except-

(A) Hepatitis B infection to mother

(B) Active Tuberculosis in mother

(C) Active mastitis due to bacterial infections

(D) Tetracycline treatment in mother

206. 26 year old primi diagnosed to have chorio-carcinoma. Treatment of choice is

(A) Radiotherapy (B) Chemotherapy

(C) Hysterectomy (D) Hysterectomy with chemotherapy

207. Ovarian artery arises from

(A) Internal iliac artery (B) Inferior mesenteric artery

(C) Abdominal aorta below renal artery (D) Uterine artery

208. Engaging diameter in Mento-anterior position of face is

(A) Bi-temporal (B) Sub-mentobregmatic

(C) Mento-vertical (D) All of the above

209. Following facts are true with amniocentesis except-

(A) It carries risk of abortion

(B) It is a blind procedure

(C) Can be done after 10 wks

(D) Having therapeutic as well diagnostic indications

210. Teratoma arises from

(A) Totipotent cells (B) Mesodermal cells

(C) Chorionic villi (D) Epithelial cells

211. Commonest cause of sudden death in carcinoma vulva

(A) Uremia (B) Sepsis

(C) Erosion of femoral vessels (D) Congestive cardiac failure

212. Anencephaly can be diagnosed earliest at

(A) 16 wks (B) 18 wks

(C) 9 wks (D) 6 wks

213. In heart disease worst prognosis during pregnancy is seen in

(A) Mitral regurgitation (B) Mitral valve prolapse

(C) Aortic stenosis (D) Pulmonary stenosis

214. Hormone responsible for decidual reaction and arias stells reaction in ectopic pregnancy is

(A) Estrogen (B) Progestogen

(C) HCG (D) HPL
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215. Earliest symptom of cervical cancer is

(A) Menorrhagia (B) Offensive discharge per vaginum

(C) Leukorrhoea (D) Metrorrhagia

216. Call-Exner bodies are seen in

(A) Dermoid cyst of ovary (B) Pseudo-mucinous cystadenoma of ovary

(C) Grannulosa cell tumour of ovary (D) Clear cell carcinoma

217. Treatment of severe platelet depletion in HELLP syndrome is

(A) Immediate termination of pregnancy followed by platelet transfusion

(B) Platelet transfusion followed by termination if required

(C) Platelet transfusion only

(D) Treatment of hypertension

218. Which of following abnormalities are common with congenital CMV infection

(A) Interstitial pneumonitis (B) Myocarditis

(C) Blood dyscrasias (D) Genito-urinary abnormality

219. Corpus luteal cyst occurs due to-

(A) HCG (B) Estrogen

(C) Progesterone (D) Prolactin

220. True about placenta previa

(A) Seen in cesarian scar (B) Removal is to be done in piecemeal

(C) Chorionic villi invade serosa (D) Leads to amniotic fluid embolism

221. Patient with suspected ovarian malignancy shows involvement with ascites. The stage is-

(A) Stage II (B) Stage Ib

(C) Stage III (D) Stage Ic

222. Oligo-hydramnios is common with-

(A) Renal atresia (B) Tracheo=oesophageal fistula

(C) Intestinal atresia (D) Hydrocephalus

 223. Mechanism by which copper IUCD acts is all except-

(A) Chronic endometrial inflammation (B) Affecting sperm motility

(C) Blocking entry of sperms (D) Increase in motility of sperms

224. Oxygenated blood from placenta is carried to fetal heart by

(A) Umbilical artery (B) Umbilical vein

(C) Inferior Vena Cava (D) Ductus arteriosus

225. Forceps can be applied in all except-

(A) Aftercoming head in breech presentation (B) Face presentation

(C) Face to pubes delivery (D) Partial extension of head

226. Method used for screening of ovarian tumour

(A) Tumour markers (B) Ultrasound with colour Doppler

(C) Regular pelvic examination (D) All of the above
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227. Pearl index for condom with chemical contraceptive is

(A) 3-8 per hundred womens year (B) 14 per hundred women year

(C) 20 per hundred women year (D) 1-2 per hundred women year

228. Second generation IUCD is -

(A) Lippes loop (B) Ota's ring

(C) Progestasert (D) None of the above

229. Severe degree of cephalo-pelvic Disproportion will present as all except-

(A) Floating head (B) Atonic PPH

(C) Asynclitism (D) Uterine inertia

230. True about cyto-reduction-

(A) Chances of re-filling of ascites decrease

(B) Removal of omental cake decrease nausea

(C) Response to chemotherapy is improved

(D) All of the above

231. First sign of intra-uterine death is

(A) Intra-aortic gas (B) Increased curvature of spine

(C) Spalding's sign (D) Oligohydramnios

232. All are features of progesterone only pills,except-

(A) Alters cervical mucus (B) Dryness of vagina

(C) Can prevent ovulation (D) Irregular bleeding is known

233. Calcification in placenta is feature of

(A) Diabetes mellitus (B) Syphilis

(C) Intrauterine growth retardation (D) Postmaturity

234. Feature of tuberculosis of endometrium-

(A) Menorrhagia (B) Amenorrhoea

(C) Ashermans syndrome (D) All of the above

235. True regarding abruption placenta with Disseminated intravascular Coagulation

(A) Cause is decreased factor V

(B) Leads to decreased factor VII

(C) All clotting factors decreased with prolonged bleeding time

(D) Folic acid deficiency is the main cause

236. Absolute contraindication for CuT insertion is-

(A) Uterine anomaly (B) Diabetes

(C) Wilsons disease (D) Patient having cervicitis

237. True about mifepristone

(A) Acts on receptors

(B) Used for cervical dilatation

(C) Can be used to treat severe atonic PPH

(D) All of the above
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238. Oral contraceptive pills can cause

(A) Carcinoma endometrium (B) Bile duct proliferation

(C) Hepatic adenoma (D) Dysmenorrhea

239. All are seen in testicular feminization syndrome except-

(A) 46XY (B) Primary amenorrhoea

(C) Blind vagina may be present (D) Short stature

240. A 40 yr lady with dysmenorrhoea & menorrhagia may be having-

(A) Fibroid uterus (B) Dysfunctional uterine bleeding

(C) Anovulatory cycles (D) All of the above

241. Treatment of choice in 32 yr old lady with 2nd degree prolapse with cystocoele

(A) Sling operation (B) Fothergills repair

(C) Colpo-perineorrhaphy (D) Vaginal hysterectomy

242. The uterus is supported by all of following except

(A) Broad ligament (B) Uterosacral ligament

(C) Mackendrot"s ligament (D) Pubocervical ligament

243. Which of the following is called living ligature of uterus

(A) Circular fibres of internal os (B) Middle layer of myometrium

(C) Outer longitudinal layer (D) None of the above

244. Corkscrew shaped glands are seen in

(A) Late proliferative endometrium (B) Early secretory endometrium

(C) Early proliferative endometrium (D) Late secretory endometrium

245. Maximal cervical mucus ferning is seen in

(A) Late proliferative phase (B) Early proliferative phase

(C) Around ovulation (D) Late secretory phase

246. Pap smear is indicated in

(A) Screening for cancer cervix

(B) Follow up of treatment of CIN

(C) Follow up of treatment of cancer cervix

(D) All of the above

247. Squamo-columnar junction may not be visible

(A) In menopausal women (B) During pregnancy

(C) During premenstrual phase (D) None of the above

248. Today sponge acts by

(A) Absorbing sperms (B) Spermicidal actions

(C) Barrier actions (D) All of the above

 249. Following are indications of hysteroscopy except

(A) Diagnose & treat asherman"s syndrome

(B) Transcervical resection of endometrium

(C) Excision of uterine septum

(D) To remove interstitial fibroid
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250. Laparoscopic ovarian surgery includes all of following except

(A) Drilling in PCOD (B) Ovarian cystectomy

(C) Peeling of chocolate cyst (D) Ovariotomy in dysgerminoma

251. The gold standard in the diagnosis of pelvic endometriosis is which of the following

(A) Ultrasound (B) CA 125 level in serum

(C) Laparoscopy (D) CT scan

 252. A 40 yr old female with fixed lump in pelvis diagnostic investigations are all except-

(A) CT scan (B) Ultrasonography

(C) Laparoscopy (D) Pap smear

253. Which of the following is not used as post-coital contraception

(A) Danazol (B) Ethinyl estradiol only

(C) Levonorgestrel (D) Ethinyl estradiol with progesterone

254. Sterilization procedure with maximum chances of reversal is

(A) Pomeroys method (B) Irwings method

(C) Laparoscopic ligation with bands (D) Laparoscopic ligation with bipolar cautery

255. A 20 yr old lady brought to casualty with hypotension,tachycardia & positive UPT. She is managed

by-

(A) Immediate exploration with resuscitation

(B) Resuscitation & exploration after USG to rule out intrauterine pregnancy

(C) Culdocentesis

(D) Resuscitation & medical management of ectopic pregnancy

256. Following represents fetal hypoxia except-

(A) Excessive fetal movements (B) Meconium in amniotic fliud

(C) Fetal scalp blood pH > 7.3 (D) Heart rate < 100

257. The most definitive sign of starting labour

(A) Presence of show (B) Descent of presenting part

(C) Formation of bag of water (D) Cervical dilatation > 3cms

258. Fetal blood loss during labour occurs because of

(A) Vasa previa (B) Battledore placenta

(C) Succenturiate lobe of placenta (D) Prematurely separated placenta

259. False about “Down staging” of carcinoma of cervix

(A) Visual inspection of cervix (B) Help of paramedical staff

(C) Used when pap smear not available (D) Lowers incidence of carcinoma cervix

260. All are used in preterm labour to decrease uterine contractions except-

(A) Methyl alcohol (B) Magnesium sulfate

(C) Ritodrine (D) Dexamethasone

261. Commonest site for ectopic pregnancy

(A) Isthmus (B) Ampulla

(C) Infundibulum (D) Cornual end
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262. Most common cause for uterine rupture in India-

(A) Previous LSCS (B) Obstructed labour

(C) Breech presentation (D) Anemia

263. Hegar's sign of pregnancy is-

(A) Painless uterine contraction (B) Bluish discolouration of vagina

(C) Softening of isthmus (D) Quickening

264. Commonest indication of In Vitro Fertilization

(A) Tubal block (B) Non-receptive endometrium

(C) Cervical antibodies (D) Azzospermia

265. All are drugs used for induction of labour except-

(A) PGE2 (B) Misoprostol

(C) Mifepristone (D) Oxytocin

266. Which of the statement is NOT correct for define Menopause

(A) Retrospective diagnosis

(B) Depletion of ovarian follicles

(C) Independent Biological Marker

(D) Objective sensitive marker-Irregular cycles No need to conduct tests to diagnose menopause

267. PPTCT programme aims at all of following except-

(A) Education of HIV negative for safe sex

(B) Reducing transmission to baby by various means

(C) Knowing exact incidence of low risk population

(D) Treating HIV positive mother

268. What is contraceptive of choice in HIV positive couple

(A) Male condoms (B) Any barrier method

(C) Tubectomy (D) OC pills

269. Disseminated Intravascular coagulation is seen in-

(A) Abruption placenta (B) Hemorrhagic shock

(C) Intrauterine Death (D) All of the above

270. True about breast feeding in HIV positive women except-

(A) Early weaning is indicated

(B) Mixed feeding most dangerous

(C) Decision to be made in antenatal period

(D) Cannot shift to top feeding alone if inadequate breast milk

271. Attitude of baby in cephalic presentation is judged by-

(A) Lateral grip (B) Pelvic grip with both hands

(C) Both (D) None

272. Increased risk of ectopic pregnancy is seen in

(A) IUCD users (B) Post-tubectomy

(C) After tuboplasty (D) All of the above
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273. Status eclampticus is best treated by-

(A) General anesthesia with emptying of uterus

(B) Labetolol drip

(C) Calmpose drip

(D) Immediate LSCS

274. Characteristic congenital anomaly in fetus of diabetic mother is

(A) Sacral agenesis (B) Hypoplastic lung

(C) Cardiac abnormality (D) Anencephaly

275. Pregnancy should be strongly discouraged in women with

(A) Severe mitral stenosis (B) Big atrial septal defect

(C) Eisenmenger syndrome (D) All of the above

276. Commonest cause of postpartum hemorrhage is

(A) Uterine atony (B) Retained placenta

(C) Coagulation defects (D) Injury to genital tract

277. Biological Markers of Menopause are

(A) Serum FSH > 40IU/ml (B) Serum Estradiol<20pg/ml

(C) Low AMH (D) High Inhibin

278. Symmetrical IUGR may be due to-

(A) Chromosomal anomaly (B) TORCH infection

(C) Both of above (D) None of the above

 279. All of following are correct regarding weight gain during menopause- except

(A) Between ages 45 and 55, women will gain on average half a kilo a year.

(B) This weight gain is associated with increased cardiovascular and metabolic risk, and

(C) changes in quality of life and sexual function.

(D) This weight gain is attributed to menopause

280. Genitourinary syndrome of menopause- Includes all of following except-

(A) vaginal and vulval dryness, (B) dyspareunia,

(C) post-coital bleeding or spotting (D) Urgency of urine

 281. Neuroendocrine Changes during Menopause

(A) Mood Swings, &Memory Loss

(B) Irritability & Fatigue,

(C) Temper Tantrums, And Depression. Some Women Say They Feel Like They're Going Crazy

(D) Both (A) & (C)

282. Which of the following statement is Not Correct about STRAW staging system

(A) Is classification of menopause

(B) Includes only period of Menopausal transition

(C) Use FSH as marker for staging

(D) May be utilized for treatment of menopause
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283. Earliest menopause symptoms is-

(A) Hot flushes (B) Osteoporosis

(C) Vaginal Discharge (D) Spotting

 284. These are side effects of Estrogens except-

(A) Water retention (B) Low LDL

(C) Painful Breasts (D) Weight gain

285. Contraception at Menopause-

(A) It is generally advised that peri menopausal women should use contraception until at least

one year after Last menstrual period

(B) If woman is taking HRT no need to take contraception

(C) There is increased risk of Birth defects if she becomes pregnant.

(D) Can use barrier Contraceptives

286. Regarding Manual vaccum aspiration (MVA) all are true except-

(A) MVA is daycare procedure.

(B) This procedure is done under local anesthesia

(C) The equipment can be re-used following decontamination & sterilisation

(D) This procedure is more expensive

287. During perimenopause, menstrual cycles may become

(A) shorter, then longer, and blood flow may vary from month to month.

(B) Some women skip periods, and then resume menstruating regularly.

(C) The main causes are erratic hormone levels and decreased frequency of ovulations.

(D) All of the above

288. Peri/post menopausal bleeding - when to seek medical Advice

(A) very heavy monthly bleeding, especially with clots

(B) bleeding after sexual intercourse

(C) spotting or bleeding between menstrual periods

(D) All of the above

289. Most Common cause of Post menopausal Bleeding-

(A) atrophy of endometrial or vaginal tissues

(B) Endometrial Hyperplasia

(C) Uterine polyps

(D) Cyclic hormonal regieme

290. Commonest presentation in large cervical fibroid is

(A) Infertility (B) Menorrhagia

(C) Dysperunia (D) Retention of urine

291. Carcinoma endometrium -

(A) accounts for about 6% of all cancers in women

(B) occurs between age 55 to 60 yrs.

(C) Risk factors are PCOS & Endometrial hyperplasia

(D) TVS ultrasound is Gold Standard for evaluation of endometrium
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292. Complication of internal podalic version in obstructed labour because of transverse lie is

(A) Rupture uterus (B) Fetal distress

(C) Injury to fetal parts (D) 3rd degree perineal tear

293. Vaginal delivery is not possible in

(A) Mal-rotation of occipito-posterior (B) Mento-posterior

(C) Extended breech (D) All of the above

294. Cervical ripening in induction of labour is necessary to avoid

(A) Prolonged labour (B) Malpresentation

(C) PROM (D) Cesarian section

295. Role of Internal podalic version in modern obstetrics is in-

(A) Premature breech

(B) Intrauterine death with transverse lie

(C) Transverse lie in 2nd baby of twin pregnancy

(D) All of the above

296. Infertility in fibroid uterus is caused by all except-

(A) Cornual fibroid (B) Associated pelvic inflammatory disease

(C) Associated pelvic endometriosis (D) A big subserous fibroid

297. Meigs syndrome comprises which of the following-

(A) Ascites (B) Right sided hydrothorax

(C) Ovarian tumour (D) All of the above

298. Suitable candidate for Hormone therapy

(A) Only in Symptomatic

(B) All Asymptomatic menopausal women

(C) Can be given for prevention of Osteoporosis

(D) > 60 yrs age

299. Which is the indication of second look surgery

(A) To detect residual tumour following chemotherapy

(B) To decide on further need of chemotherapy

(C) To perform a definite surgery following chemotherapy

(D) All of the above

300. Pearl index is related with

(A) Degree of contracted pelvis (B) Cervical scoring prior to induction

(C) Assessment of high risk pregnancy (D) Contraceptive effectiveness
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